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4/29 (R Y 1~8[72 5137 SC] 10~14 Dl 4 v 277 2 FC]
IR 5] a7 FH’ - 4F RS 1%

1/9:00 |GHU it FC AL FC JIg FR g — 7" 1 2
219:30 | 7=2biE%k SC g g c— 71 2 | GHU i FC

3110:00 |@EMHlIFC v aAfSC JEH < — 7L 2 | 725137 SC

4110:30 | &mA#FC 725 1X7% SC zvYa4SC GHU

5[11:00 | =¥ a4 SC GHU JNIB g s — 7 2 | 725 1E 7% SC

6 | 11:30 | JIlEH s ¥ —F N = AHIL FC E FC rv¥a4SC

7112:00 | @t FC v a4 SC 725137 SC AL FC

8 |12:30 | HHL FC 725137 SC TvYa4 SC i FC

9 13:00
10 | 13 :30 | KK(2> L35 - Adh) AR SC JIg > 4~ 72 FC | T4 SC
11[14:00 | )Y 4 v 72 FC T4 SC KK (2> U235 - Adth) | K22 KSC
12|14 :30 | K% KSC KK(%> U2s% « AMh) | T4 SC AR SC
13|15:00 | AA SC JIE7 4~ 2”& FC | K22 KSC KK (%> L7285 « AMr)
14| 15:30 | T4ESC K7 KSC AR SC JNRE 7 4 v 27" & FC
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5/1 (+) SEHN 15~21 [EH i FC) 23~27 [KK(2> L 235 - AHh)]
IR 2a7y FH’ -4 RS 1%
15/9:00 | GHU NI s — 71 2 | @ FC A1 FC
16 |9 :30 =R FC AL FC zvyaAq SC JIHEF R gt — 71 2
17 [ 10 : 00 | JIllgH g — T 2 ¥ aAfSC 725X SC GHU
1810:30 | GHU 725137 SC i FC IR g8 — 71 2
19 | 11: 00 | JIgH g ¥ — 7L 2 i FC AHIL FC GHU
20 | 11:30 | #MHIl FC GHU 725137 SC vy a4 SC
21(12:00 | =v a4 SC 725 1X7% SC GHU H#HIL FC
2212 :30
23 [13:00 | KK(% L2s% - Alth) JIRE 4~ 7”2 FC | AK SC T4 SC
24 113:30 | AKSC T4 SC K% KSC JIEFY 4 v 7" & FC
2514 :00 | JlgY 4 v 7" & FC K72 KSC KK(%> U2s% « AMh) | AAK SC
26 | 14:30 | T4 SC KK(2> U35 - AHb) | JIlFFY 4+ v 7" 2 FC | KZ2 KSC
27 [ 15: 00 | KZ2KSC AASC T4 SC KK (2> U235 - Adth)
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5/2 (H) S5 Y 1~8[B7uvy 27 2{;] 10~14[A 7oy 7 61{7])
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11 9:00 |B7wuvyZ7 34r - A7wvay 7 147 A 7wy 7 341 A7uvy 7 24L
21 9:30 |A7wv 2 24f - B 7wy 7 241 B 7wy 7 311 A7wavy 7 114
3/10:00 |A 7oy 2 3L - B7uvyZ 1 A7ay 7 24 B 7wy 241
4110:30 |A7mvy 27 1141 - B 7wy 7 241 B 7wy 7 141 B 7wy 7 311
5111:00 |B7uavy 27 1{; - B 7wy 34L A7wavy 724 B 7wy 7 241
611:30 |A 7wy 2{f - A 7wy 7 34 A7wmy 7 14; B7uav 2711
7112:00 |A7wvy 7 141 - B7wvy 27 11{; B7wvy 2 21{f A7wavy 7 347
8112:30 |A 7wy 311 - B7wvy s 2L B7wyv 27 14L A7uvv 7 141
9113:00

10[13:30 |A7wmy 27 44f] - A 7wy 7541 A7wvvy 7 64L B 7wy 7 414;
11[14:00 |A7uvv 7 6ff - B7wvy 7 4fL ATuay s 4 B7wv s 54%
12(14:30 |B7uv 7 5{; - ATuay s 4f; B7wvy 7 4fL A7wavy 754
13[15:00 |A 7wy 7 54 - A7uay 76 B7wv 27547 A7uwavy 74
1415:30 |B 7wy 7 41; - B 7wy 254 A7avy 7 514 A7av 7 6fi
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5/3 (H) ANEHEY 15~21[A 7 v v 7 34f] 23~27[B 7 wu v 7 54{r]
IR ] a7y FHE-4F Il

15]19:00 A7wvyvy 724" - B 7wy 3141 A7wvy 7 147 A7uwy 7 34L
169:30 |AZ7uvy 2 1{L - A 7wy 7 3L B7wy 714 A 7wy 7 24%
17110: 00 |A7wmy 27 24f - B7wvy 2 11{; B7wvy 2 2{f B7wvy 7 31{
1810:30 |B7wv 2 314 - B7wavy s 24 A7wmy 7 11{; A 7wy 7245
1911:00 |A 7wy 2{f - A7wmy 7 14; A 7wy 7 34 B 7wy 73
20111:30 |A 7wy 27 3f; - B 7wy 27 34L B 7wy 7 241 B 7wy 7 141
21(12:00 |B7uvy 2 1{if - B7wavy s 24 B 7wy s 3 A 7wy 7 34
22

23113:00 |A 7wy 7 414r - A7wvav 7 6L A7wvvy 7 54L B 7wy 7 414;
24113:30 |A 7wy 751" - B7wvy s 4f; B7wvy s 54% A7nwavy 7 6fr
25114:00 |A7wmavy76fr - B7wvy s 54% ATuay s 4 A7wavy 754
26 (14:30 |B7wmy 2 4f; - A 7wy 7 4L A7uvy 7 6L B 7wy 754
27115:00 |B7wav 7 54; - A 7wy 7541 B 7wy 7445 A7wvvy 7 44L
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